Directions (1-5) : Study the following
information cavefully and answer the
EiVen questions !
A word and number arrangement
machine when given an input ling of
words and numbers rearranges them
following a particular rule in each step.
The following is an illustration of
input and rearrangement.

Input : 51 pour 32 start now 23 46
house :
23 51 pour 32 start now 46
house
23 start 51 pour 32 now 46
house

Step I:
Step Tl

Step 11
house

Step IV :

house

23 start 32 pour 46 51 now

house

23 srart 37 pour 46 pow 51

house

and step VI is the last step of the

rearrangement.

As per the rules followed in the above

steps, find out in each of flie following

questions the appropriate step for the

given input.

1. Step IT of an input is : 18 task
bear cold disk 81 63 31. How
many maore steps will be required
10 complete the rearrangement ?

ﬁtﬁp\’:

 Step V1:

(1) Three (2) Four
(3) Five (4) Six
{5) None'of these

23 start 32 51 pour now 46 |

23 start 32 pour 51 now 46

2. Taput ;7259 3780 Fm‘pucruu 24
journey. How many steps will it
take to complete the rearrange-

* mient ¥
(1) Thres (2) Four
{3) Five {4) Six
(5) Mone of these

. Input : nice flower 34 12 costly
height 41 56. Which of the
following will be step. 111 7
{13 12" nice 34 height flower

costly 41 56

L

{2} 12 nice 34 height 41 flower.

costly 56

(3) 12 nice 34 flower costly
height 41 56

(4) 12 nice. flower 34 costly
height 41 56

(5) None of these

. Step ITofan input is ; 16 victory

19 36 53 store lake town. Which

of the following will be step V 7

(1) 16 victory 19 town store 36
53 lake

-

(2) 16 victory 19 wwn 36 store

53 lake
(3) 16 victory 19 town 36 53
store luke
(4) There will be no such step
(5) Nune of these |
Step HI of an inputis ; 15 yes 29
ask for soap 42 37
Which
definitely the input ?
(1) ask yes 29 15 for soap 42 37
(2} yes ask 15 29 for soap 42 37

»

of the following is |

(3) 29 15 yes ask for soap 42 37

{4) Cannot be determinad

{3) None of these
Directions (6-10) : Study the following
information carefilly o answer these
quEstions : by

| A,B,C,D,E, Fand G are members of

a sports club and have liking for
different games, wiz. Carrom, Table
Tennis, Badminton, Bridge, Hockey,
Football and Lawn Tennis but mnot
necessarily in the same order, Each one
of them has a lking for different
musical instruments, viz. Sitar, Guitar,
Harmonium, Flute, Tabla, Banjo and
Santoor, not necessarily in the same
order.

B likes Carrom and Banjo. E likes to
play Bridge but not Harmonium or
Table. The one who plays Hockey
plays Sitar, F plays Guitar but not

| ‘Table Tennis or Lawn Tennis. A plays
Badminton and Flute. The one who

plays Lawn Tennis does -not play
Tablg., C plays Harmonium and G

plays Hockey.
6. Who plays Santoor ?
(D (2yA
(3 E ($DorE

(5) None of these
7. 1 plays which game ?
(1) Tahle Tennis
(2) Lawn Tennis
(3) Football
(4) Cannot be determined
* '(5) None of these



1. All cooks are engineers. |

8 Which of the following |
combination fo - pame- IV, Some cooks are poets.
person-musival instrument  is (1) None follows

definitely correct 7
(1) Badminton-B-Flute
{2) Table Tennis-L-Santoor
(3) Lawn Tennis-D-Tabla
(4) Table Tennis-C-Tablg
{5) Nong of these

9. Wheo plays Foothall 7

(2) Ondy | follows'
{3) Only U and IV follow
(4) Only [ and TV follow
{5) None of these

13. Statements : Some tools are
hammers. Some. hammers are
nails, All nails are screws. All

o (2)D SCTCWS iire nuits.

3G 4 F Conclnsions ;

(5) None of these LA nuts are screws is a
possibility.

I1. Atleast soine nuts are tools.

11, Some hammers are screws, |
TV, All nuts are nails, |
(1) AH follow ‘

10, Who plays Table Tennis 7
o

23F

3D

(4) Cannot be determined |

{3) None of these |
Directions (11-15) : {n each of the
yuestions  below  are given _.I’badr
statements  followed by wr |
conelusions numbered [ 17, (I dnd IV
You have to take the given statementy
to he irue even if they seem to beat |
variance with commonly krown facts, |
Read all the conclusions dnd then
decide which of the given conclusions |
logically follows from the given |

(2) Only T follows
(3} Only 11 follows
(47 Only [ and 11 follow
(5) None of these
14. Statements 3 All pens are bags.
All bags are glasses, No glass isa
spoon. All spoons are books.
Conclusions :
1. Some plasses arc pens.
11. Some books are'bags.,
IIL. Atleast some spoons are

satements  disregarding  commoniy pens,
knawn facts. IV. All bags being books is a
11. Statements : Some jeeps are | | possibility. 1

tmains. All irains are buses, Some |
buats are jeeps. Some scooters
are buses,

(1) Only 1 follaws |
(2} Only I, NI and either 11 or IV |

fallow
Conclusions ; (3) Either 1 or IV follows
1. Some scooters are trains, | (4) All follow

1L, Atleast some boats are buses,
" 1L Some jeeps are scooters,
IV. All buses being trains is a |
possibility.

(1) None follows

(2) Omly IV follows
(3) Only I and IV follow |
(4) Only I follows,

(3) None of these |
15. Statements All petals are
flowers. All thorns are flowers,
Some leaves are thoms. Some
stems are flowers,
Conclusions : |
I, There is & possibility that

some petals are leaves. .
(5) None of these | 1T, All leaves are flowers. |
12. Statements : All teachers qre ML Atleast  some  stems  are
enginecrs.  All cngineers  arc petals,

cooks, Some couks are merchants, |
All merchants are poets. |
Conclusions :
L. There is a possibility, thal
some cooks are teachers.
IL. Atleast some merchanls are
engineers.

V. No petal isia leaf, |

(1} None follows

(2) Ounly T follows

(3) Only II and either 1 or IV |
follow ;

(4} Only either [ or 1V follows

(5) None of these |

Directions (16-19) : Jn the Sollowing
| auestion; the symbols (@, T$,% and &

| are used with the following meaning as

illustrated below :

| P £.Q" means Piseil.lwrgm'at:rthan

or equal to o

‘P % Q" means Pluelmernrnallcrth:m
or equal to 7,

P @ Q" means ‘P is neither smaller
than nor greater than Q.

‘P $ Q" means ‘P is smaller than Q'

PO means ‘Pnsgmal.&ﬂmQ
Now in euch of the fbilowmg questions
g the given s to he

true, find which of the two

I and 11 given below ﬂlm xsfam
definitely true,

Give answer (1) J.fnnur conclusion I
is rue.

Give answer (2) Ifnnly oumlus;m 1
igtrue.

- Give answer {3) it either ponmsim
Tor Il is true,

Give answer (4) if neither eﬂmhmbn :

. Lnor 11 is true,

Give answer (5) if both comlusiuns I
and Il are true.
16. Statements :
B@N, N&T TSK
Coneclusions : LT@B

ILTSB
17. Statements :
R3$J, " JI8F, F%H ..
Cnnclusmns tLH&J]
ILR§F
18. Statements :
18D, D@,
Conclusions : L J6F
ILFE&D
19, Statements :
BST, TSH H@Mm
Conclusions ; I. M3 T
H.B6H
Directions  (20-24) . Study  the
foilowing infarmation and answer the
questions given below it y
Seven members H, I, J, KL Mand N

N%F

Mumbai, not _necmsnrily in th'e same
order. Each one has a different mother

| tongue-Tamil, Karmada, Telugu, Hindi,

Marathi, Punjabi @nd Bangla, not
necessarily in the same order, ©



J works in Bangalore and his mother
tongue s not Tamil or Marathi. K's
mother tongue is Punjabi and he works
in Ahmedabad. L and M do notwork in
Chennai and none of them has Marathi
mother tongue. | works in Hyderabad
and his mother tongue is Telugu. The
one who works in Delhi has Bangla
mother tongue, N works in Mumbai
and his mothertongue is Hindi, L does
not work in Kolkata.
20. What is J's mother tongue 7

{4) if the data in both the Statements |
and Il even topether wne net
suffieient to answer the question.

(5) if the data in both the Statements | |

and I ogether are necessary to
answer the question;
25. How is A related to B ?
L A is the sister-in-law of C,
who is the daughter- in-law
. of B, who is the wife of D.
1L B is the mother of A% son's
only unele's son,

(1) Telogu  {2) Hindi 26. Amongst A, B, C, D, E and F
(3) Bangla  (4) Kannada each arc having a differcnt
L] Bone abiiege. 1 height, Who is the shortesi 2.
21. Wha waorks in f;"r-?"“‘ ; L C is shorter (han only B.
(hH el IL. A is taller than only D and F.
M o HLlorM 27, Point X is in which dicection
(5) Mone of these ATl o ¥ 7 * i
22, Which of the following byt Sasie :
_ e : o I. Point Z is at equal distance
combinations is correct 7 ; i
(1) Marathi - 1 - Hyderabad I‘mmtpﬂ’nmml){audpouﬂ'(’.
{2) Tamil - M - Kolkats 1L Wt_alkm.g S_km o th_c East of
(3) Marathi - I - Chennai * . point xl szl taking two
(4) Punjabi - K - Delhi conseeulive right rums after
" (5) None of these walking 5 km before each
23, Who works in Delhi 7 turn leads to point Y.
(H 21M 28, How is ‘must’ written in a code
(3L (HK Ianguage 7
(5) None of these I. ‘you must sec’ is written as
24, What is M's mother tongue ? “1a pani’ and “did you see’ is
(1) Bangla written as ‘jo ni pa’ in that
(2) Marathi code language. |
(3) Telugn * 10, “youdid that’ is written as ‘pa
(4) Cannot be daermined si jo' in that code language.
(5) None of these . Directions (29-32) : Swdy the
Directions - (25-28) : Each of ’}w  Jallowing information carefully anda
q below s ”f | answer the qrws.rmnrgrwﬁ below:
and two /T and Il Followi are. the for
are given below it. You have to decide selectu:g Marketing Manager in an

whether the data provided in the

‘statements are sufficient to answer the

question. Read both the statements and

Give answer

(1) if the data in Statement [-alone are
sufficient to answer the question,
while the data in statement 11 alone
are not sufficient to answer rhe
queslion. :

{2) if the data in Statement 11 alone are
sufficient to answer the question, |
while the data in Staternent 1 alone are
ot sufficient to answer the question.

(3) if the data in Statement [ alone or
in Statement IT alone are sufficient
1o answer the guestion,

orgnisation :

The candidate must :

(I)be at least 30 years old as on
01.03.2013

(1T) have secured at least 35 per cent
marks in graduation.

(IIL} have secured at least 60 per cent
marks in Post-Graduate
Degree/Diploma in Marketing,

(IV} have post qualification work
experience of al least five years
in the Marketing Division of an
organisalion.

(V) have secured at least 45 per cent

marks in the selection process.

In the case of & candidate who satisfies

all other conditions except

(Ayar (IV) above, but has post-
qualification work experience of at
least two years as Deputy Marke-
ting Manager, the case is 1o be
referred to GM- Marketing,

{B) at (11) above, but has secured at least
65 et cent marks in Post- Graduate

DegreeDiploma in Marketing
Management, the case is o be
referred 1o Vice  President-
Marketing.

In each question below are given details
of one candidate. You have to take one
of the fullowing courses of action based
on the information provided and the
conditions and  sub-conditions given
above and mark your  answer
accordingly, You are pot o assume
anything other than the information
provided in each question. All these
cases are given to you as on01.03.2013.
Mark answer
(1)if the candidate is mot to be
selected.
{2) if the candidate is to be selected.
(3) if the data are inadequate to take o

_ decision.

(4) if the case is to be referred o Viee
President- Marketing,

(5) if the case is-to be referred to
GM-Marketing.

29, Wayin Marathe was born on 3th
April, 1979, He has secured, 60
per  cent marks - in  both
graduation and  Post-Graduate
Degree in Marketing, He has
been working for the past six
years in the Marketing Division
of an organisation after comple-
ting his PG Degree in Marketing.
He has secured 50 per cent marks
in the selection process.

Divya Kohli has heen working
for the past five years in the
Mm:ketmg DI\'[S]OJ'I of an
of 1 after complet
her Post-Graduated Diploma in
Muarketing with 65 per cent
marks, She has secured 35 per
cent marks in graduation and 50
* per cent marks in the selection
process. She was born on 2nd
April, 1983,

30.




31. Suresh Mehta has secured 58 per
cent marks in gradustion. Te was
horn on 19th May, 1979, He has
secured 50 per cont marks in the
selection process. He has been
waorking for the past seven years
in the Marketing Division of an
organisation after completing his
Post Graduation with 62 per cent
marks.

Varun Malhotra was homn on 3rd
July, 1980, He has been working
as Deputy Marketing Manager in
an organisation for the past three
years after completing his Post
Graduate Degree in Marketing
with 65 per cent marks, He

o

secured 55 per cent marks in |
both graduation and selection |

process.
Directions (33-36) : In cach guestion
below is given a statement followed by
fwio axsumptions mumbered Tand [T An

! i

W i & TWEP o
taken for gramed. You have to
consider the statemenmt  and  the

JSollowing  asswumptions and  decide
which of the assumptions is implieit in
the statentent. ;
(I} if only Assumption T is implicit.
(2) 1 only Assumption T1 is implicit.
(3)if either Assumption I or 1l is
. implicit, i
(4) if neither Assumption T nor I is
implicit.
(5)if both Assumptions 1 and 11 are
implicit.
33. Statement :
Many people fell ill after
consuming meal at a wedding
reception and were rushed to the
near by government and private
hospitals,
Assomptions :
L. The relatives-of the affected
» pedple may refuse to take
them to the government
hospitals, *
11. The nearby hospitals may be
able to attend to all the
affected people,

34, Statement :
The government has recently
d an & ive packagy
for setting up new business
ventures in the rural areas and
promised uninterrupted power
supply to all the units.
Assumptions :

I. The government may be able
to supply adequate power to
all such units. )

1L People living in the rural
arcas . may - welcome  the
government decision.

Statement :

The municipal aithority blocked

movement of traffic in and

around the temple on the main

35.

festival day.

Assumptions :

L. Very large number of
devotees  may  visit  the
temple on the main festival
day. -

1L People travelling to the areas
ngar  the temple may

postpone their. joumey by a
day unless they have very
urgent work in that area,

Statement :

The government has instructed

4l the private schools in the city

to-maintain the current fees for at

lzast two more years,

Assumptions :

L The authorities of private
schools may not follow the
government  instruction  as
they are not dependent on
povernment funds.

L. The parents of the students of

private schools of the city

36.

may still be eager to pay

Each question below is followed by
two arguments numbered I and 11 you
hawve to decide which of the arguments
is a ‘strong’ argument and which is a.
‘weak” argument,

(1) if omly argument I is strong.

(2) if only argument I1 is strong.

(3) if either argument Tor 11 is strong,

(4) if neither argument | nor 11 is

strong.

{5) if both arguments 1 and (1 as strong,’
37. Statément : 3

Should the sale of all the toys

made in China be hanned in

India 7 .

Arguments :

L. Yes, these are very cheap and
‘hence will put the local ioy
manufzeturers out of busi- ness. |

1L No, Indian toys are of much

beiter quality and their sale
will ot be affected,

Statement ;

Should there be no examination

upto Std, IX in all the schools in

India ?

Arguments ;

L No, smdents need to go

through the process of giving

38,

examinations right from
young age.
1L Yes, this will help students to

think laterally and achieve
then creative pursuits.

Statement : e

Should there be only a uniform

rate of income tax irrespective of

the level of income ?

Arguments :

L Yes, this will substantially
reduce the work of the officials
of the income tax department,

IL No, this will reduce

government tax collection to
|- @ large extent.

40. St I}

3,

higher fees.
Directions  (37-40) In ma’ki’ng‘
fecisions about important g igs, It
iy desirable o be able 1o di h
| between'sirong’ arguments  and |
| weak'arg . Strong

| are thase which are both important

| and directly related to the question. |
‘Weak" arguments are those which are
of minor importance and alse may not
be directly. related 1o the question or

| may be related to a trivial aspect of the

| guestion.

Should there be only two
political parties in India 7
Arguments :

L Yes, in many developed
countries there are only two
politicel parties, 3

IL No, Indian electorate is not
mature to select between
only two political parties.



Read
carefiliy

Directions  (41-55) :
Sfollowmg  passage

the |
and |

“answer the guestions given below it |
| economist Surjit Bhalla says less than

Certain words have been printed in
bold o help you locate them while
answering some of the questions.
Political ploys initially hailed as
masterstrokes often end up.as Tops,
The ¥ 60,000 crore farm loan waiver
announced in the budget writes off
100% of over dues of small and

marginal farmers holding up to two |
hectares, and 25% of over dues of |

larger farmers. While India has
enjoyed 8%-9% GDP growth for the

past few years, the boom has bypassed |

many rural areas and farmer distress
and suicides have made newspaper
headlines, Various attempts to provide
relief (employment guarantee scheme,
public distribution system) have had
little impact, thanks to huge leakages
from the government's lousy delivery
systems, So, many economists think
the loan waiver is a worthwhile
alternative to provide reliefi
However, the poorest rural folk are
landless labourers, who get neither
farm loans nor waivers, Half of small
and marginal farmers get no loans from
banks. and depend entirely  on
moneylenders, and will not benefit.
Besides, rural Indla is full of family
holdings  rather ~ than  individual
holdings, and  family  holdings will
typically be much larger than two

hectares even for dirt-poor farmers, |

who will, therefore, be denied the
100%% waiver. It will thus fail in both its
economic and political objectives,
IRDP loans to the rural poor in the
1980s demonstrated that crooked bank
officials demand bribes amounting to
one-third the intended benefits, Very
few of the intended beneficiaries who
merited relief received it After the
last farm loan waiver in 1990, many
banks went slow on fresh farm loans
for some years. This waiver will

=41 ENGLISH L:

similarly slow down fresh loans to
deserving farmers. While over dues to
co-operatives  may  be ' higher,

% of farmer loans to banks are
aoverdue, i.e. over dues éxist for only
2.25 million out of 90 million farmers.
If so, then the 95% who have repaid
loans will not benefit. They will be
angry at being penalised for honesty.
The budget thus grossly overestimates
the number of beneficiaries. Tt also
underestimates the negative cffects of
the waiver encouraging wilful defaulis
in future and discouraging fresh bank

lending for some yearse Instead of |

trying to reach the needy through a
plethota of leaky schemes we should
transfer cash directly to the needy,
using new technology like biometric
smart cards, which are now being used
in maty countries, and mobile phone
hank accounts. Then benefils can go
directly to phone accounts operable
only by those with biometric cards,
ending the massive leakages of current
schemes,

The political benefits of the Toan

waiver have also been exaggerated

since if only a small fraction of farm

families benefit, and many of these
have to pay bribes to get the actual
benefit, will the waiver really be a
massive vote-winner Members of joint

families will feel aggrieved that, |

despite having less than one hectare
per head, their family holding is too
large to qualify for the 100% waiver,

All finance ministers, of the central or |

state governments, pive away freebies
in their last budgets, hoping to win
electoral regards, Yet, four-fifths of all
incumbent governments are voted

out. This shows that benefieiaries of |

favours are not notably grateful, while
those not ,so favoured may feel
aggrieved, and vote for the Opposition,
That scems to be why election budgets

constantly fail to win elections in India |

and the loan ‘waiver will not change
that pattern.

41.

42,

Why do economists feel that
loan waivers will benefit farmers
in distress 7

(1) It will improve the standard

~of living of those farmers
who can afford to repay their
loans but are exempied

(2} Other  government
measures” - have
ineffective. i

(3) Suicide rates of farmers have
declined after the
announcement of the waiver.

{4) Farmers will be motivated &
incrense  the size of their
family holdings ot
individual holdings.

(5) The government will be
forced to reexaming  and
improve the public
distribution system. o

What message will the loan

waiver send to farmers who have

repaid loans 7

(1) The Government will readily
“provide them with loans in
the future.

(2) As opposed to moneylen-
ders, banks arc a safer and
more reliable source of credit.

(3) Honesty is the best policy

(4) It is beneficial to dake loans

co-operatives since thejr
rates of interest are lower.

(5) None of these

‘What is the author's suggestion

to provide aid to farmers 7

relief
proved

(1) Families should split their .

joint  holding  to  take
advantage of the loan waiver,

(2) The  govemment should
increase the reach of the
employment -guarantee
scheme.

(3) Loans should be disbursed
directly into bank accounts
of the farmer using the latest
technology,



a4,

{4) Government should * ensure
that loan waivers can be
implemented over & number I
of years, 1

(5) Rural infrastrueture can be

improved using  schemes
which were -~ suceessful
abroad, :

What was the sutcome of TRDP }

loans to the rural poor 7

(1) The perceniage of bank loans
sanctioned to family owned:
farms increased.

{2) The loans henefited
dishonest monevlenders, not
landless labourers.

(3} Corrupt bank officials were
the unintended beneficiaries
of the loans. :

(4} It resulted in the government |

sanctioning  thrice  the
amount for the current loan
waiver.

(5) Nong of these

What are the ternis of the loan

waiver ?

(A) One-fourth of the: overdue
lpans of landless lebourers |
will be written off.

(ByThe ¥ 60,000 crose loan :
waiver has been sanctioned
for 225 ‘million marginal |
farmers.

{C) Any farmer with between 26
percent and 100 percent of

their  loan  repsyments
overdue will be penalized.

(1) Only (A)

(2) Only (B) ‘

(3) Both (B) and (C) !

(4) ALl (A), (B) and (C). }

(5) None of these

What is the author’s view of the

loan waiver 7

()0t will have an  adverse '
psychological  impact om |
those who cannot avail of the
waiver. |

(2)Tt is & justified measure in |
view of the high suicide rate
among landless labourers.

47,

*.(4) Only (C)

49,

48. Which of the following will |

(3) It makes sound economic and
political sense in the existing
scemario.

{4) Itwill ensure that the benefits
of India's high GDP are felt
by the rural poor. &

{5) None of these

Which of the following cannot |

be said about loan waiver ?

(1) Small snd marginal farmers |
will Benefit the most. |

(2} The loan waiver penalises

dcscr\'in'g farmers.

(3)A  large percentage ie
ninety-five*  ‘petcent  of
distressed  farmers  will
benefit,

(1) Only (C)

(2) Bath (A) and (C)

(3) Only (A)

{4) Both (B) apd (C)

{3) None of these

detinitely be an impact of loan

waiver 7

{A) Family holdings will be split
into individual holdings not
exceeding one hectare, |

(B} The public distribution
system will be revamped.

(C) Opposition will definitely
win the election,

(1} None

(2) Only (A)

(3) Both (A} and (B)

(5) All (A}, (B) and (C)

Whatimpact will the loan waiver

have on banks 7

(1) Banks have to bear the entire |
brunt of the write-off, |

{2) Loss of trust in banks by big |
farmers |

(3) Corruption among bank staff
will incréase.

(4) Farmers will make it a habit |
to default on loans. |

{5) None of these

50.

According to the author, what is
the government’s motive - in

‘sanctioning the Joan waiver 7

(1] To encourage farmers to opt
for bank loans over loans
from money lenders

(2) To raise 90 million farmers
out of indebtedness

{3)To provide relief to those
marginal farmers who have
the means to but have not
repaid their loans

(4)To ensure they will
reelected

{5) Nome of these

b

Directions (51- 53) : Cheose the word
which is most nearly the same in

| meaning as the word prinved in bold as

wyed in the passage .

51.

52.

INCUMBENT
(1} Mandatory -
(2) Present

{3) Incapable
(4) Lazy |

(5) Officious
PLOYS

(1) Surveys

{2) Entreaties

* {3) Ruses

Directions
| wordiphrase which is most opposite in

(4) Conspiracies
(5) Assurances

. AGGRIEVED

(1) Vindicated
(2) Intimidated
(3) Dffensive
(4) Wronged
(5) Disputed
(54-55) :

Choose  the

meaning of the word printed in bold as
used in the passage.

54

PLETHORA
(1} Dearth
(2) Missing

(3) Superfluous
(4} Sufficient
(5) Least

55. MERITED

(1) Ranked

(2) Unqualified for
{3) Lacked

4 Inept at 3
{5} Unworthy of






























